2018

? (2018.12.07)

(2 )



2018-12-07

451,095,000

1

2018

451,095,000

1 2018-12-07




1 2018

53,307 369,504 81.9
3,156 21,154 4.6 /
10,684 53,410 11.8

13 713 0.1

0 6,314 1.3

3/18



SCRIPT ERROR

(
)
390,658 334,195 56,463
369,504 316,197 53,307
369,504 316,197 53,307
369,504 316,197 53,307
213,030 203,028 10,902 = @m919,000 x 1) = 44 608,000
169,311,000 =
()i @40IL000 x 1)~ o o0
33,717,000 =
155,574 113,160 42,405 { ) - (5,800,000 > 14 600,000
) - 4,000,000 =
C D(G.580,000 x40
1 ) - 2,000,000 =
«C D (22,026,000 4 o0 o0
x 1 ) - 20,386,000 =
C PG00 x 1 o0
) - 2,753,000 =
C : (3,900,000 2,100,000
x 1 )-1,800,000 =
« ) : 12,301,000
(22,272,450 x 1 ) - 9,881,000 =
D (20,637,000 oo
x 1) - 22,212,000 =
¢ ) 1,845,000
(1,948,110 x 1 ) - 103,000 =
¢ ) 913,000
(1,826,380 x 1 ) - 913,000 =
C ( ) (2,687,000 900,000
x 1 )-1,787,000 =
C ( ) P (3,225,000 x oo
1) - 2,145,000 =
C : (35,380,000 8.704.000
x 1 ) - 26,676,000 =
«C D@539,000 x 1) o0
- 1,915,000 =
«( ) 480,000
(960,000 x 1 ) - 480,000 =
¢ ) 480,000
(1,440,000 x 1 ) - 960,000 =
C : (382,000 184,000
x 1 )-198,000 =
« ) 300,000
(1,500,000 x 1 ) - 1,200,000 =
¢ ) : 4,157,000
4,157,000 x 1 =
« ) 1,801,000
(5,958,630 x 1 ) - 4,157,000 =
¢ ) ¢ e 200,000
200,000 x 1 =
«C £300,000 400 oo
x 1 =
¢ ) 250,000
: 250,000 x 1 =

2018-12-07




SCRIPT ERROR

(
)
21,154 17,998 3,156
21,054 17,898 3,156
1. 21,054 17,898 3,156
1. 21,054 17,898 3,156 i L - ) + 3,155,380 3,156,000
100 100 0
1. 100 100 0
1. 100 100 0
54,123 43,426 10,697
53,410 42,726 10,684
53,410 42,726 10,684
1. 47,498 38,794 8,704
1. 47,498 38,794 8,704 ¢ i ) P 8,704,000 X1 5 204, 000
2. 5,912 3,932 1,980
1. 5,912 3,932 1,980 ( ) :1,080,000 x1 = 1,980,000
713 700 13
300 300 0
1. 300 300 0
‘1. 300 300 0
413 400 13
1. 300 300 0
1. 300 300 0
2. 113 100 13
1. 113 100 13 : =13,000x 1 13,000
6,314 6,314 0
6,314 6,314 0
6,314 6,314 0
1. 6,314 6,314 0
1. 6,314 6,314 0
2 2018-12-07




SCRIPT ERROR

‘ 451,095‘ 383,935‘ 67,160

3 : 2018-12-07



SCRIPT ERROR

( )
)

3,571 4,790, -1,219
3,571 4,790,  -1,219
1,430 1,430 0
1,430 1,430 0
1,430 1,430 0
2,141 3,360 -1,219
1,921 2,400 -479

1,921 2,400 -479 -100,000 x 1 = -100,000

339,000 x 1 = -339,000

40,000 x 1 = -40,000
220 960 -740

220 960 -740 -740,000 x 1 = -740,000
158,338 120,961 37,377
86,463 62,341 24,122
86,463 62,341 24,122
62,423| 51,591 10,832

62,423 51,591 10,832 ( ) 1,004,000 x 1 = 1,004,000

500,000 x 1 = 500,000

( ) ( ) 8,704,000 x1 = 8,704,000

( o Z () 624,000 624.000
7,650 8,150 -500

4,050 4,150 -100 -100,000 x 1 = -100,000

3,600 4,000 -400 -400,000 x 1 = -400,000
600 600 0
600 600 0
5,530 2,000 3,530

5,530 2,000 3,530 i , ) 1,765,000 3,530,000
5,958 0 5,958

1 . 2018-12-07




SCRIPT ERROR

( : )
)
5,958 0 5,958 g L - ) 4,157,000 4,157,000
i . ) 1,801,000 1,801,000
2,302 0 2,302
2,302 0 2,302 i , - ) 1,076,000 2,152,000
150,000 x 1 = 150,000
2,000 0 2,000
2,000 0 2,000 2,000,000 x 1 = 2,000,000
4,640 5,090 -450
2,620 3,250 -630
80 80 0
80 80 0
200 330 -130
200 330 -130 130,000 x 1 = -130,000
1,340 1,840 -500
0 500 -500 -300,000 x 1 = -300,000
] 200,000 x 1 200,000
400 400 0
740 740 0
200 200 0
() 1,000 1,000 0
1,000 1,000 0
2,020 1,840 180
1,020 840 180
1,020 840 180 30,000 x6 = 180,000
500 500 0
500 500 0
500 500 0
500 500 0

2 : 2018-12-07




SCRIPT ERROR

( : )
)
41,292 30,608 10,684
35,380 26,676 8,704
35,380 26,676 8,704
35,380 26,676 8,704 5’704’030 x1 = 8,704,000
5,912 3,932 1,980
5,912 3,932 1,980
5,912 3,932 1,980 g 1 = ) 1,980,000 1,980,000
25,943 22,922 3,021
25,943 22,922 3,021
13,500 13,500 0
12,540 12,540 0
960 960 0
6,100 4,000 2,100
800 500 300 gO0,000) x1 = 300,000
5,300 3,500 1,800 ( ) 1,800,000 x1 = 1,800,000
2,669 2,669 0
2,669 2,669 0
3,674 2,753 921
3,674 2,753 921 ( ) 361,000 x1 = 361,000
560,000 x1 = 560,000
80,179 76,455 3,724
62,329 58,805 3,524
6,370 7,310 -940
3,370 4,050 -680
2,750 3,250 -500 -500,000 x1 = -500,000
620 800 -180 -180,000 x1 = -180,000
60 200 -140
60 200 -140 -140,000 x1 = -140,000

3 : 2018-12-07




SCRIPT ERROR

( : )
)

200 200 0
200 200 0
800 800 0
800 800 0
1,940 2,060 -120

1,940 2,060 -120 -120,000 x1 = -120,000
17,480 18,680 -1,200
1,480 2,680 -1,200
80 80 0

1,400 2,100 -700 -700,000 x1 = -700,000

0 500 -500 -500,000 x1 = -500,000
16,000 16,000 0
13,280 13,280 0
2,720 2,720 0
3,800 2,850 950
3,800 2,850 950
400 400 0

0 50 -50 -50,000 x1 = -50,000

3,400 2,400 1,000 500,000 x 2 = 1,000,000
8,022 6,578 1,444
4,500 4,500 0
0 0 0
892 892 0
2,000 2,000 0
1,608 1,608 0
200 200 0
200 200 0
) 1,500 1,200 300

4 : 2018-12-07




SCRIPT ERROR

( : )
)

1,500 1,200 300 goo,ooo) <1 = 300,000
382 198 184

382 198 184 §84’000) <1 = 184,000
( 1,040 480 960

1,440 480 960 ¢ ) 480,000

480,000 x 1 =

(480,003 x1 = 460,000
26,657 23,387 3,270
14,425 12,055 2,370

11,425 9,055 2,370 237,000 x 10 = 2,370,000
3,000 3,000 0
820 820 0
820 820 0
1,500 1,500 0
1,500 1,500 0
0 300 -300

0 300 -300 -300,000 x 1 = -300,000
0 80 -80

0 80 -80 -80,000 x1 = -80,000
0 500 -500

0 500 -500 -500,000 x 1 = -500,000
1,000 1,000 0
1,000 1,000 0
0 200 -200

0 200 -200 -200,000 x 1 = -200,000
600 600 0
600 600 0
200 200 0
200 200 0

5 : 2018-12-07




SCRIPT ERROR

( : )
)
11. 5,912 3,932 1,980
5,912 3,932 1,980 500,000) x1 = 900,000
i,OS0,0gO x1 = 1,080,000
12. 2,200 2,200 0
600 600 0
1,600 1,600 0
17,850 17,650 200
3,700 3,700 0
1. 1,600 1,600 0
1,600 1,600 0
2. 2,100 2,100 0
2,100 2,100 0
11,000 11,000 0
1. 11,000 11,000 0
11,000 11,000 0
3,150 2,950 200
1. 3,150 2,950 200
3,150 2,950 200 50,000 x2 = 100,000
50,000 x2 = 100,000
0 0 0
1. 0 0 0
0 0 0
69,270 57,166 12,104
57,619 45,315 12,304
26,966 28,426 -1,460
1. 1,040 6,240 -5,200
200 5,400 -5,200 -5,200,000 x1 = -5,200,000
840 840 0
6 : 2018-12-07




SCRIPT ERROR

( : )
)

22,026 20,386 1,640

20,525 18,885 1,640 ( ) 1,640,000 x1 = 1,640,000
1,501 1,501 0
3,900 1,800 2,100

3,900 1,800 2,100 225’000) x1 x4 - 2,100,000
30,653 16,889 13,764
4,200 4,200 0
4,200 4,200 0
26,453 12,689 13,764

22,429 11,673 10,756 52’391’300 x1 = 12,391,000

_ -1,635,430 x 1 -1,635,000

250 0 250 525’000) x2 = 250,000

3,774 1,016 2,758 2,758,030 x1 = 2,758,000
11,441 11,641 -200
11,441 11,641 -200
6,400 6,400 0
1,200 1,200 0
5,200 5,200 0
4,900 5,100 -200

4,900 5,100 -200 -200,000 x1 = -200,000
141 141 0
141 141 0
210 210 0
210 210 0
100 100 0
100 100 0
110 110 0
110 110 0

7 : 2018-12-07




SCRIPT ERROR

(
)
29,434 27,132 2,302
3,682 3,682 0
3,682 3,682 0
1,200 1,200 0
0 0 0
1,200 1,200 0
1,000 1,000 0
1,000 1,000 0
1,100 1,100 0
1,100 1,100 0
300 300 0
300 300 0
82 82 0
82 82 0
490 490 0
400 400 0
400 400 0
400 400 0
90 90 0
90 90 0
90 90 0
9,800 9,800 0
9,800 9,800 0
2,000 2,000 0
2,000 2,000 0
7,800 7,800 0
600 600 0
7,200 7,200 0
8 : 2018-12-07




SCRIPT ERROR
( )
)
13,812 13,160 652
0 300 -300
0 300 -300
0 300 -300 -300,000 x1 = -300,000
13,812 12,860 952
13,652 12,700 952
7,325 8,100 -775 -775,000 x1 = -775,000
1,627 1,100 527 -100,000 x1 = -100,000
127,000 x1 = 127,000
100,000 x5 = 500,000
4,700 3,500 1,200 1,200,000 x1 = 1,200,000
SW 160 160 0
110 110 0
50 50 0
1,650 0 1,650
1,650 0 1,650
1,650 0 1,650
1,650 0 1,650 550,000 x 3 = 1,650,000
110,303 97,431 12,872
44,512 39,448 5,064
30,620 25,400 5,220
8,090 7,640 450
1,140 540 600 30,000 x5 x4 = 600,000
3,950 4,100 -150 150,000 x 2 = 300,000
-450,000 x 1 = -450,000
3,000 3,000 0
18,090 11,820 6,270
5,260 3,760 1,500 X2 = 250,000 =3 1,500,000
9 : 2018-12-07




SCRIPT ERROR

( : )
)

200 200 0

4,970 5,700 -730 -36,500 x4 x5 = -730,000
160 160 0

7,500 2,000 5,500 - 2 1,875,000 x4 5,500,000
4,440 5,940 -1,500
400 400 0

3,600 5,100 -1,500 -30,000 x10 x5 = -1,500,000
440 440 0
13,892 14,048 -156
4,800 4,800 0
4,800 4,800 0
2,330 2,632 -302

1,280 1,582 -302 -302,000 x1 = -302,000
900 900 0
150 150 0
0 480 -480

0 240 -240 -240,000 x1 = -240,000

0 240 -240 -240,000 x1 = -240,000
3,846 3,420 426
1,620 1,620 0

1,386 960 426 142,000 x 3 = 426,000
840 840 0
1,320 1,120 200

1,320 1,120 200 é0,000 )x 4 - ( ) 200,000
1,596 1,596 0
1,596 1,596 0
63,941 55,683 8,258
63,941 55,683 8,258

10 : 2018-12-07




SCRIPT ERROR

( : )
)

18,100 20,300 -2,200
10,800 10,800 0

1,000 3,200 -2,200 -550,000 x 4 = -2,200,000
6,300 6,300 0
580 1,300 -720

580 1,300 -720 -720,000 x1 = -720,000
19,800 19,500 300

19,800 19,500 300 300,000 x1 = 300,000
3,360 3,360 0
3,360 3,360 0
22,101 11,223 10,878
0 0 0

21,301 10,423 10,878 2,500,000 x4 = 10,000,000

50,000 x6 = 300,000

578,000 x1 = 578,000
800 800 0
1,850 2,300 -450
450 900 -450
450 900 -450
100 100 0

350 800 -450 -450,000 x1 = -450,000
1,400 1,400 0
400 400 0
400 400 0
1,000 1,000 0
800 800 0
200 200 0
0 0 0

11 : 2018-12-07




SCRIPT ERROR

(

‘ ‘ ()
0 0 0
1. 0 0 0
1. 0 0 0
0 0 0
2. 0 0 0
0 0 0
451,095 383,935| 67,160

12 : 2018-12-07




